

DOUBLE EULER SUMS ON HURWITZ ZETA FUNCTIONS

MINKING EIE AND WEN-CHIN LIAW

ABSTRACT. In an attempt to derive explicit evaluation of the double Euler sum with Dirichlet characters defined by

$$S_{p,q}^{\chi} := \sum_{k=1}^{\infty} \frac{\chi(k)}{k^q} \sum_{j=1}^k \frac{1}{j^p},$$

we decompose it into double Euler sums on Hurwitz zeta functions. In this paper, we give explicit evaluation of these Euler sums on Hurwitz zeta functions in terms of Hurwitz zeta values and the digamma function.

1. Introduction. For a pair of positive integers p and q with $q \geq 2$, the classical (double) Euler sum is defined as

$$(1.1) \quad S_{p,q} := \sum_{k=1}^{\infty} \frac{1}{k^q} \sum_{j=1}^k \frac{1}{j^p}.$$

It is well known that $S_{p,q}$ can be evaluated in terms of values at positive integers of the Riemann zeta function when $p = 1$ or $(p, q) = (2, 4)$ or $(p, q) = (4, 2)$ or $p = q$ or $p + q$ is odd. For explicit evaluations of the classical Euler sums or related alternating sums, readers may consult [2, 3, 6, 11, 16, 18]. Note that our $S_{p,q}$ is referred to as the double Harmonic series and denoted by $S(q, p)$ in [12, 13] but is called double zeta-star value and denoted by $\zeta^*(q, p)$ in [1]. It now becomes more customary to denote the double zeta values by $\zeta(s_1, s_2)$, which unfortunately conflicts with equally standard $\zeta(s, x)$ notation for the

2000 AMS *Mathematics subject classification.* Primary 11M06, Secondary 11M35, 33B15.

Keywords and phrases. Euler sums, Hurwitz zeta function.

The first author was supported by the Department of Mathematics, National Chung Cheng University and by the National Science Council of Taiwan, Republic of China. The second author was partially supported by the National Science Council of Taiwan, Republic of China, through grant NSC94-2115-M-194-009.

Received by the editors on August 10, 2006, and in revised form on July 6, 2007.

DOI:10.1216/RMJ-2009-39-6-1869 Copyright ©2009 Rocky Mountain Mathematics Consortium

Hurwitz zeta function. Since our focus is more on representation of the double Euler sums in terms of the Hurwitz zeta values, we shall reserve the ζ notation throughout for either the Riemann or Hurwitz zeta functions.

As a generalization of double Euler sums, we replace the role of the Riemann zeta function by the more general Hurwitz zeta function,

$$(1.2) \quad \zeta(s, x) := \sum_{n=0}^{\infty} \frac{1}{(n+x)^s}, \quad \operatorname{Re} s > 1, \quad x > 0.$$

This leads to the consideration of *double Euler sums on Hurwitz zeta functions*.

For a pair of positive integers p and q with $q \geq 2$ and positive real numbers x and y with $x, y \leq 1$, we define

$$(1.3) \quad H_{p,q}(x, y) := \sum_{k=0}^{\infty} \frac{1}{(k+y)^q} \sum_{j=0}^{\tilde{k}} \frac{1}{(j+x)^p},$$

where

$$\tilde{k} = \begin{cases} k & \text{if } x \leq y; \\ k-1, & \text{if } x > y. \end{cases}$$

The following reflection formulae are immediate: For $p, q \geq 2$,

$$(1.4) \quad H_{p,q}(x, y) + H_{q,p}(y, x) = \zeta(p, x)\zeta(q, y),$$

if $x \neq y$, and

$$(1.5) \quad H_{p,q}(x, x) + H_{q,p}(x, x) = \zeta(p, x)\zeta(q, x) + \zeta(p+q, x).$$

Such new Euler sums provide a continuous version of, and actually building blocks for, the classical Euler sums or various kinds of generalized Euler sums [5, 7, 8, 9, 10, 18].

Example 1. For the classical Euler sums, we have

$$(1.6) \quad H_{p,q}(1, 1) = S_{p,q},$$

and, for any positive integer N ,

$$(1.7) \quad S_{p,q} = \frac{1}{N^{p+q}} \sum_{a=1}^N \sum_{b=1}^N H_{p,q} \left(\frac{a}{N}, \frac{b}{N} \right).$$

Example 2. Let $r = a/b$ with a and b being relatively prime positive integers. Then the extended Euler sum considered in [5],

$$(1.8) \quad E_{p,q}^{(r)} := \sum_{k=1}^{\infty} \frac{1}{k^q} \sum_{j=1}^{[kr]} \frac{1}{j^p},$$

can be written as

$$(1.9) \quad E_{p,q}^{(r)} = \frac{1}{a^p b^q N^{p+q}} \sum_{u=1}^{aN} \sum_{v=1}^{bN} H_{p,q} \left(\frac{u}{aN}, \frac{v}{bN} \right).$$

Example 3. For Euler sums with Dirichlet character χ modulo N , as considered in [7],

$$(1.10) \quad S_{p,q}^{\chi} := \sum_{k=1}^{\infty} \frac{\chi(k)}{k^q} \sum_{j=1}^k \frac{1}{j^p},$$

we note that

$$(1.11) \quad S_{p,q}^{\chi} = \frac{1}{N^{p+q}} \sum_{a=1}^N \sum_{b=1}^{N-1} \chi(b) H_{p,q} \left(\frac{a}{N}, \frac{b}{N} \right).$$

We may rewrite $S_{p,q}^{\chi}$ as

$$(1.12) \quad \begin{aligned} S_{p,q}^{\chi} &= \frac{1}{2N^{p+q}} \sum_{b=1}^{N-1} \chi(b) \\ &\quad \times \sum_{a=1}^{N-1} \left\{ H_{p,q} \left(\frac{a}{N}, \frac{b}{N} \right) + \chi(-1) H_{p,q} \left(\frac{N-a}{N}, \frac{N-b}{N} \right) \right\} \\ &\quad + \frac{1}{2N^{p+q}} \sum_{b=1}^{N-1} \chi(b) \left\{ H_{p,q} \left(1, \frac{b}{N} \right) + \chi(-1) H_{p,q} \left(1, \frac{N-b}{N} \right) \right\}. \end{aligned}$$

Consequently, $S_{p,q}^x$ can be explicitly evaluated provided that the quantities in the braces of (1.12) can be evaluated, which is the case if $\chi(-1) = (-1)^{p+q-1}$. This was proved, without giving explicit evaluations, in [7].

This last example motivates us to consider, for $0 < x, y < 1$,

$$(1.13) \quad T_{p,q}(x) := H_{p,q}(1, x) + \varepsilon H_{p,q}(1, 1-x)$$

and

$$(1.14) \quad G_{p,q}(x, y) := H_{p,q}(x, y) + \varepsilon H_{p,q}(1-x, 1-y),$$

where

$$(1.15) \quad \varepsilon := (-1)^{w-1} = (-1)^{p+q-1},$$

so that $\varepsilon = 1$ if the weight $w = p + q$ is odd and $\varepsilon = -1$ when w is even.

The exact purpose of the paper is to give explicit evaluations of $T_{p,q}(x)$ and $G_{p,q}(x, y)$. It will be easier to work with their companions, which we now define. For $0 < x < 1$ and a pair of positive integers p and q with $q \geq 2$, define

$$(1.16) \quad E_{p,q}(x) := H_{p,q}(x, 1) + \varepsilon H_{p,q}(1-x, 1).$$

In view of the reflection formula, which follows from (1.4),

$$(1.17) \quad E_{p,q}(x) + T_{q,p}(x) = \zeta(p, x)\zeta(q) + \varepsilon\zeta(p, 1-x)\zeta(q)$$

and the differentiation formula

$$(1.18) \quad E_{p,q}(x) = \frac{(-1)^{p-1}}{(p-1)!} \left(\frac{d}{dx} \right)^{p-1} E_{1,q}(x),$$

Theorem 1 and Corollary 1 below suffice to effect explicit evaluation of $T_{p,q}(x)$.

Theorem 1. *Let $E_{p,q}(x)$ be defined by (1.16). For positive integers $q \geq 2$, let $w = 1 + q$ and $\varepsilon = (-1)^q$. Then*

$$(1.19) \quad E_{1,q}(x) = \frac{1}{2} \{ \zeta(w-1, 1-x) - \varepsilon \zeta(w-1, x) \} \pi \cot \pi x - \sum_{\ell=0}^{[(q-1)/2]} \zeta(2\ell) \{ \zeta(w-2\ell, 1-x) + \varepsilon \zeta(w-2\ell, x) \},$$

where, as is customary, $\zeta(0) = -1/2$.

Corollary 1. *For positive integers p and q with $q \geq 2$, and $w = p + q$ and $\varepsilon = (-1)^{p+q-1}$, we have*

$$(1.20) \quad E_{p,q}(x) = (-1)^{p-1} \left\{ \frac{1}{2} \binom{w-2}{q-1} \times \{ \zeta(w-1, 1-x) - \varepsilon \zeta(w-1, x) \} \pi \cot \pi x - \frac{1}{2} \sum_{\ell=1}^{p-1} \binom{w-\ell-2}{q-1} \{ \zeta(\ell+1, 1-x) + (-1)^{\ell+1} \zeta(\ell+1, x) \} \times \{ \zeta(w-\ell-1, 1-x) + \varepsilon (-1)^{\ell+1} \zeta(w-\ell-1, x) \} - \sum_{\ell=0}^{[(q-1)/2]} \binom{w-2\ell-1}{p-1} \zeta(2\ell) \times \{ \zeta(w-2\ell, 1-x) + \varepsilon \zeta(w-2\ell, x) \} \right\}.$$

As regards the evaluation of $G_{p,q}(x, y)$, it is convenient to employ the notation for the digamma function:

$$(1.21) \quad \psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}.$$

Theorem 2. *For $0 < x < y < 1$ and positive integers $q \geq 2$, let $\varepsilon = (-1)^q$. Then*

$$\begin{aligned}
(1.22) \quad 2G_{1,q}(x,y) &= \{\zeta(q, y-x) - \varepsilon\zeta(q, 1+x-y)\} \{\pi \cot \pi x - \pi \cot \pi y\} \\
&\quad + \{\zeta(q, y) + \varepsilon\zeta(q, 1-y)\} \\
&\quad \times \{-\psi(x) - \psi(1-x) + \psi(y-x) + \psi(1+x-y)\} \\
&\quad - \sum_{\ell=2}^{q-1} \{\zeta(q+1-\ell, y-x) + \varepsilon(-1)^\ell \zeta(q+1-\ell, 1+x-y)\} \\
&\quad \times \{\zeta(\ell, y) + (-1)^\ell \zeta(\ell, 1-y)\}.
\end{aligned}$$

Remark 1. Since we have the following differentiation formulae,

$$(1.23) \quad G_{p,q}(x,y) = \frac{(-1)^{p-1}}{(p-1)!} \left(\frac{\partial}{\partial x} \right)^{p-1} G_{1,q}(x,y)$$

and

$$(1.24) \quad G_{p,q+1}(x,y) = \frac{-1}{q} \left(\frac{\partial}{\partial y} \right) G_{p,q}(x,y),$$

it is not difficult to derive explicit evaluation of $E_{p,q}(x,y) + H_{p,q}(1-x, 1-y)$ for odd w and of $H_{p,q}(x,y) - H_{p,q}(1-x, 1-y)$ for even w from Theorem 2 if one so wishes.

2. The $p = 1$ case. A key step to evaluating $E_{p,q}(x)$ or $G_{p,q}(x,y)$ is the explicit evaluation when the index p is 1. As $H_{1,q}(x,y)$ cannot be evaluated directly, we shall start with obtaining explicit evaluation of suitable combinations of $H_{1,q}(x,y)$ for various arguments x and y . We need the Kronecker limit formula for the Hurwitz zeta function, see e.g., [17, page 271, Section 13.21],

$$(2.1) \quad \lim_{s \rightarrow 1^+} \left\{ \zeta(s, x) - \frac{1}{s-1} \right\} = -\psi(x),$$

and its consequence

$$(2.2) \quad \sum_{j=0}^{\infty} \left\{ \frac{1}{j+x} - \frac{1}{j+y} \right\} = -\psi(x) + \psi(y).$$

We shall also need

$$(2.3) \quad \psi(x) - \psi(1 - x) = -\pi \cot \pi x$$

and the following partial fraction decomposition, see [3, 14]:

$$(2.4) \quad \begin{aligned} \frac{1}{(X + \alpha)^q X^p} &= \sum_{\ell=2}^p (-1)^{p+\ell} \binom{w-1-\ell}{q-1} \frac{1}{\alpha^{w-\ell} X^\ell} \\ &+ \sum_{\ell=2}^q (-1)^p \binom{w-1-\ell}{p-1} \frac{1}{\alpha^{w-\ell} (X + \alpha)^\ell} \\ &+ (-1)^{p+1} \binom{w-2}{q-1} \frac{1}{\alpha^{w-1}} \left\{ \frac{1}{X} - \frac{1}{X + \alpha} \right\}. \end{aligned}$$

Proposition 1. For $0 < x < 1$ and a positive integer q with $q \geq 2$, we have

$$(2.5) \quad \begin{aligned} H_{1,q}(1, x) &= \frac{q}{2} \zeta(q + 1, x) + \zeta(q, x) \{ \psi(x) + \gamma \} \\ &- \frac{1}{2} \sum_{\ell=2}^{q-1} \zeta(\ell, x) \zeta(q + 1 - \ell, x), \end{aligned}$$

where γ is Euler’s constant defined by

$$\gamma := \lim_{n \rightarrow \infty} \left(\sum_{k=1}^n \frac{1}{k} - \log n \right).$$

Proof. By definition, we have

$$\begin{aligned} H_{1,q}(1, x) &= \sum_{k=0}^{\infty} \frac{1}{(k + x)^q} \sum_{j=0}^{k-1} \frac{1}{j + 1} \\ &= \sum_{k=0}^{\infty} \sum_{j=0}^{\infty} \frac{1}{(k + j + 1 + x)^q (j + 1)}. \end{aligned}$$

If we let $p = 1$ in the partial fraction decomposition (2.4), then

$$(2.6) \quad \frac{1}{(X + \alpha)^q X} = \frac{1}{\alpha^q} \left\{ \frac{1}{X} - \frac{1}{X + \alpha} \right\} - \sum_{\ell=1}^{q-1} \frac{1}{\alpha^\ell (X + \alpha)^{q+1-\ell}}.$$

Using this we rewrite $H_{1,q}(1, x)$ as

$$H_{1,q}(1, x) = \sum_{k=0}^{\infty} \frac{1}{(k+x)^q} \sum_{j=0}^{\infty} \left\{ \frac{1}{j+1} - \frac{1}{k+j+1+x} \right\} - \sum_{\ell=1}^{q-1} \sum_{k=0}^{\infty} \sum_{j=0}^{\infty} \frac{1}{(k+x)^\ell (k+j+1+x)^{q+1-\ell}},$$

which, in view of (2.2) and the fact that $\psi(1) = -\gamma$, is equal to (2.7)

$$H_{1,q}(1, x) = \zeta(q, x) \{ \gamma + \psi(x) \} + H_{1,q}(x, x) + (q-1)\zeta(q+1, x) - \sum_{\ell=1}^{q-1} H_{\ell, q+1-\ell}(x, x).$$

In the sum of the righthand side, the first term corresponding to $\ell = 1$ cancels with $H_{1,q}(x, x)$ and, by (1.5), the remaining sum is

$$\begin{aligned} \sum_{\ell=2}^{q-1} H_{\ell, q+1-\ell}(x, x) &= \frac{1}{2} \sum_{\ell=2}^{q-1} (H_{\ell, q+1-\ell}(x, x) + H_{q+1-\ell, \ell}(x, x)) \\ &= \frac{1}{2} \sum_{\ell=2}^{q-1} (\zeta(\ell, x)\zeta(q+1-\ell, x) + \zeta(q+1, x)) \\ &= \frac{q-2}{2} \zeta(q+1, x) + \frac{1}{2} \sum_{\ell=2}^{q-1} \zeta(\ell, x)\zeta(q+1-\ell, x). \end{aligned}$$

Substituting this in (2.7), we finish the proof. □

The following propositions can be derived in a similar manner, and so we omit the proof.

Proposition 2. For $0 < x < 1$ and a positive integer $q \geq 2$, we have

$$(2.8) \quad \begin{aligned} H_{1,q}(x, x) + H_{1,q}(1-x, 1) &= \zeta(q+1, x) - \zeta(q, x) \{ \psi(1-x) + \gamma \} \\ &\quad - \sum_{\ell=2}^{q-1} \zeta(\ell)\zeta(q+1-\ell, x). \end{aligned}$$

Proposition 3. For $0 < x < y < 1$ and a positive integer $q \geq 2$, we have

$$(2.9) \quad \begin{aligned} & H_{1,q}(x, y) + H_{1,q}(1 - x, y - x) \\ &= \zeta(q, y - x) \{-\psi(x) + \psi(y)\} + \zeta(q, y) \{-\psi(1 - x) + \psi(y - x)\} \\ &\quad - \sum_{\ell=2}^{q-1} \zeta(\ell, y) \zeta(q + 1 - \ell, y - x). \end{aligned}$$

3. The ETD system and proof of Theorem 1. As suggested by (1.17) and (1.18), it is more natural to start our evaluation with $E_{1,q}(x)$, than those of $E_{p,q}(x)$, and hence the evaluation of $T_{p,q}(x)$ follows at once.

For $0 < x < 1$ and a pair of positive integers p and q with $q \geq 2$, we recall

$$(3.1) \quad E_{p,q}(x) := H_{p,q}(x, 1) + \varepsilon H_{p,q}(1 - x, 1),$$

$$(3.2) \quad T_{p,q}(x) := H_{p,q}(1, x) + \varepsilon H_{p,q}(1, 1 - x),$$

where $\varepsilon = (-1)^{p+q-1}$, and define

$$(3.3) \quad D_{p,q}(x) := H_{p,q}(1 - x, 1 - x) + \varepsilon H_{p,q}(x, x).$$

Proposition 4. For $0 < x < 1$ and each positive integer q with $q \geq 2$, and $\varepsilon = (-1)^q$, we have

$$(3.4) \quad \begin{aligned} E_{1,q}(x) + D_{1,q}(x) &= \zeta(q + 1, 1 - x) + \varepsilon \zeta(q + 1, x) \\ &\quad - \zeta(q, 1 - x) \{\psi(x) + \gamma\} - \varepsilon \zeta(q, x) \{\psi(1 - x) + \gamma\} \\ &\quad - \sum_{\ell=2}^{q-1} \zeta(\ell) \{\zeta(q + 1 - \ell, 1 - x) + \varepsilon \zeta(q + 1 - \ell, x)\}. \end{aligned}$$

Proof. This follows from

$$\begin{aligned} E_{1,q}(x) + D_{1,q}(x) &= \varepsilon \{H_{1,q}(x, x) + H_{1,q}(1 - x, 1)\} \\ &\quad + \{H_{1,q}(1 - x, 1 - x) + H_{1,q}(x, 1)\} \end{aligned}$$

and the evaluation obtained in Proposition 2. \square

Proposition 5. For $0 < x < 1$ and each positive integer q with $q \geq 2$, let $\varepsilon = (-1)^q$. Then

$$(3.5) \quad \begin{aligned} E_{1,q}(x) - D_{1,q}(x) &= \zeta(q, 1-x) \{\psi(1-x) + \gamma\} + \varepsilon \zeta(q, x) \{\psi(x) + \gamma\} \\ &\quad + \sum_{\ell=2}^{q-1} (-1)^{\ell+1} \zeta(\ell) \{\zeta(q+1-\ell, 1-x) + \varepsilon \zeta(q+1-\ell, x)\}. \end{aligned}$$

Proof. To ease the burden of carrying around the ε factor in our derivation, we shall deal only with the case $q = 2n$ throughout, the case of odd q being similar.

Specializing the parameters $(p, q) = (2n-1, 2)$ in (2.4), we get

$$(3.6) \quad \begin{aligned} \frac{1}{(X+\alpha)^2 X^{2n-1}} &= \sum_{\ell=2}^{2n-1} (-1)^{\ell+1} (2n-\ell) \frac{1}{\alpha^{2n+1-\ell} X^\ell} - \frac{1}{\alpha^{2n-1} (X+\alpha)^2} \\ &\quad + (2n-1) \frac{1}{\alpha^{2n}} \left\{ \frac{1}{X} - \frac{1}{X+\alpha} \right\}. \end{aligned}$$

It follows that

$$\begin{aligned} H_{2n-1,2}(x, x) &= \zeta(2n+1, x) \\ &\quad + \sum_{\ell=2}^{2n-1} (-1)^{\ell+1} (2n-\ell) \zeta(2n+1-\ell) \zeta(\ell, x) \\ &\quad - H_{2n-1,2}(1, x) + (2n-1) H_{1,2n}(x, 1). \end{aligned}$$

Replacing x by $1-x$ and adding together, we get

$$(3.7) \quad \begin{aligned} T_{2n-1,2}(x) + D_{2n-1,2}(x) &= \zeta(2n+1, x) + \zeta(2n+1, 1-x) + (2n-1) E_{1,2n}(x) \\ &\quad + \sum_{\ell=2}^{2n-1} (-1)^{\ell+1} (2n-\ell) \zeta(2n+1-\ell) \{\zeta(\ell, x) + \zeta(\ell, 1-x)\}. \end{aligned}$$

In the same way, we get

$$(3.8) \quad \begin{aligned} T_{2n-1,2}(x) + D_{2n-1,2}(x) &= \zeta(2n+1, x) + \zeta(2n+1, 1-x) + (2n-1) \zeta(2n, x) \{\gamma + \psi(x)\} \\ &\quad + (2n-1) \zeta(2n, 1-x) \{\gamma + \psi(1-x)\} + (2n-1) D_{1,2n}(x) \\ &\quad + \sum_{\ell=2}^{2n-1} (-1)^{\ell+1} (2n-\ell) \{\zeta(2n+1-\ell, x) + \zeta(2n+1-\ell, 1-x)\} \zeta(\ell) \end{aligned}$$

if we begin with

$$H_{2n-1,2}(1, x) = \sum_{k=0}^{\infty} \sum_{j=0}^{\infty} \frac{1}{(k + j + 1 + x)^2(j + 1)^{2n-1}}.$$

Subtraction of (3.8) from (3.7) then yields the result. \square

Proof of Theorem 1 and Corollary 1. The evaluation of $E_{1,q}(x)$ follows from Propositions 4 and 5. Now Corollary 1 is an easy consequence by virtue of (2.3) and the facts that

$$\begin{aligned} \frac{d}{dx} \zeta(s, 1 - x) &= s \zeta(s + 1, 1 - x), \\ \frac{d}{dx} \zeta(s, x) &= -s \zeta(s + 1, x), \end{aligned}$$

and

$$\frac{d}{dx} [\psi(x) - \psi(1 - x)] = \zeta(2, x) + \zeta(2, 1 - x). \quad \square$$

Remark 2. Note that $D_{p,q}(x)$ can be expressed in terms of $E_{u,v}(x)$ and $T_{u,v}(x)$ with the same weight $u + v = p + q$. Besides, just like the differentiation formula (1.18), the higher derivatives of $D_{1,q}(x)$ recursively give the evaluation of $D_{p,q}(x)$ also.

4. The KL system and the proof of Theorem 2. From now on, we assume that $0 < x < y < 1$. The evaluation of

$$G_{p,q}(x, y) = H_{p,q}(x, y) + \varepsilon H_{p,q}(1 - x, 1 - y),$$

where $\varepsilon = (-1)^{p+q-1}$, is a bit tricky. To this purpose, we introduce two families of Euler sums, where each member consists of four terms and is defined as

$$(4.1) \quad \begin{aligned} K_{p,q}(x, y) &:= H_{p,q}(x, y) + \varepsilon H_{p,q}(1 - x, 1 - y) \\ &\quad + \varepsilon H_{p,q}(y - x, y) + H_{p,q}(1 + x - y, 1 - y), \end{aligned}$$

$$(4.2) \quad \begin{aligned} L_{p,q}(x, y) &:= \varepsilon H_{p,q}(y, x) + H_{p,q}(1 - y, 1 - x) \\ &\quad + H_{p,q}(y, y - x) + \varepsilon H_{p,q}(1 - y, 1 + x - y) \end{aligned}$$

and

$$(4.3) \quad \begin{aligned} K_{p,q}^-(x, y) &:= H_{p,q}(x, y) + \varepsilon H_{p,q}(1-x, 1-y) \\ &\quad - \varepsilon H_{p,q}(y-x, y) - H_{p,q}(1+x-y, 1-y), \end{aligned}$$

$$(4.4) \quad \begin{aligned} L_{p,q}^-(x, y) &:= \varepsilon H_{p,q}(y, x) + H_{p,q}(1-y, 1-x) \\ &\quad - H_{p,q}(y, y-x) - \varepsilon H_{p,q}(1-y, 1+x-y). \end{aligned}$$

Note that the desired quantity $G_{p,q}(x, y)$ is actually equal to

$$\frac{1}{2}(K_{p,q}(x, y) + K_{p,q}^-(x, y)) = \frac{1}{2}(L_{p,q}(1-y, 1-x) + L_{p,q}^-(1-y, 1-x)).$$

In view of (1.23) and (1.24), the task of deriving $G_{p,q}(x, y)$ comes down to evaluating $G_{1,q}(x, y)$, and therefore it suffices to evaluate $L_{1,q}(x, y)$ and $L_{1,q}^-(x, y)$ instead.

Proposition 6. *For each positive integer q with $q \geq 2$, let $\varepsilon = (-1)^q$. Then*

$$(4.5) \quad \begin{aligned} L_{1,q}(x, y) &= \zeta(q, y-x) \{-\psi(1-y) + \psi(1-x)\} \\ &\quad + \zeta(q, 1-x) \{-\psi(y) + \psi(y-x)\} \\ &\quad + \varepsilon \zeta(q, x) \{-\psi(1-y) + \psi(1+x-y)\} \\ &\quad + \varepsilon \zeta(q, 1+x-y) \{-\psi(y) + \psi(x)\} \\ &\quad - \sum_{\ell=2}^{q-1} \zeta(\ell, 1-x) \zeta(q+1-\ell, y-x) \\ &\quad - \varepsilon \sum_{\ell=2}^{q-1} \zeta(\ell, 1+x-y) \zeta(q+1-\ell, x). \end{aligned}$$

Proof. This follows from

$$\begin{aligned} L_{1,q}(x, y) &= \{H_{1,q}(1-y, 1-x) + H_{1,q}(y, y-x)\} \\ &\quad + \varepsilon \{H_{1,q}(1-y, 1+x-y) + H_{1,q}(y, x)\} \end{aligned}$$

and Proposition 3. \square

Proposition 7. *For each positive integer q with $q \geq 2$, let $\varepsilon = (-1)^q$. Then*

$$\begin{aligned}
 (4.6) \quad L_{1,q}^-(x, y) &= \zeta(q, y-x) \{-\psi(x) + \psi(y)\} \\
 &\quad + \varepsilon \zeta(q, 1+x-y) \{-\psi(1-x) + \psi(1-y)\} \\
 &\quad - \varepsilon \zeta(q, x) \{-\psi(y-x) + \psi(y)\} \\
 &\quad - \zeta(q, 1-x) \{-\psi(1+x-y) + \psi(1-y)\} \\
 &\quad + \sum_{\ell=2}^{q-1} (-1)^{\ell+1} \zeta(q+1-\ell, y-x) \zeta(\ell, x) \\
 &\quad + \varepsilon \sum_{\ell=2}^{q-1} (-1)^{\ell+1} \zeta(q+1-\ell, 1+x-y) \zeta(\ell, 1-x).
 \end{aligned}$$

Proof. We begin with

$$\begin{aligned}
 K_{q-1,2}^-(x, y) &= \{H_{q-1,2}(x, y) + \varepsilon H_{q-1,2}(1-x, 1-y)\} \\
 &\quad - \{\varepsilon H_{q-1,2}(y-x, y) + H_{q-1,2}(1+x-y, 1-y)\}.
 \end{aligned}$$

Employing (2.4) with p and q replaced by $q-1$ and 2 , respectively, we get

$$\begin{aligned}
 &\frac{1}{(X + \alpha)^2 X^{q-1}} \\
 &= (-1)^q \left(\sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \frac{1}{\alpha^{q+1-\ell} X^\ell} - \frac{1}{\alpha^{q-1} (X + \alpha)^2} \right. \\
 &\quad \left. + (q-1) \frac{1}{\alpha^q} \left\{ \frac{1}{X} - \frac{1}{X + \alpha} \right\} \right).
 \end{aligned}$$

It follows that, with $\varepsilon = (-1)^q$,

$$\begin{aligned}
 H_{q-1,2}(x, y) &= \varepsilon \left(\sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \zeta(q+1-\ell, y-x) \zeta(\ell, x) \right. \\
 &\quad \left. - H_{q-1,2}(y-x, y) + H_{1,q}(y, y-x) \right. \\
 &\quad \left. + (q-1)(q-1) \zeta(q, y-x) \{-\psi(x) + \psi(y)\} \right).
 \end{aligned}$$

We then apply the same process to other terms defining $K_{q-1,2}^-(x, y)$ and sum together to get

$$\begin{aligned}
 (4.7) \quad K_{q-1,2}^-(x, y) &= K_{q-1,2}^-(x, y) - \varepsilon(q-1)L_{1,q}^-(x, y) \\
 &+ \varepsilon \sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \zeta(q+1-\ell, y-x) \zeta(\ell, x) \\
 &+ \sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \zeta(q+1-\ell, 1+x-y) \zeta(\ell, 1-x) \\
 &- \sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \zeta(q+1-\ell, x) \zeta(\ell, y-x) \\
 &- \varepsilon \sum_{\ell=2}^{q-1} (-1)^{\ell+1} (q-\ell) \zeta(q+1-\ell, 1-x) \zeta(\ell, 1+x-y) \\
 &+ \varepsilon(q-1) \zeta(q, y-x) \{-\psi(x) + \psi(y)\} \\
 &+ (q-1) \zeta(q, 1+x-y) \{-\psi(1-x) + \psi(1-y)\} \\
 &- (q-1) \zeta(q, x) \{-\psi(y-x) + \psi(y)\} \\
 &- \varepsilon(q-1) \zeta(q, 1-x) \{-\psi(1+x-y) + \psi(1-y)\}.
 \end{aligned}$$

Thus, our assertion then follows from an elementary calculation. \square

Proof of Theorem 2. Adding (4.5) and (4.6) together and changing the variables $(x, y) \rightarrow (1-y, 1-x)$, we immediately derive Theorem 2. \square

REFERENCES

1. T. Aoki and Y. Ohno, *Sum relations for multiple zeta values and connection formulas for the Gauss hypergeometric functions*, Publ. RIMS Kyoto Univ. **41** (2005), 329–337.
2. B.C. Berndt, *Ramanujan's notebooks, Part I*, Springer-Verlag, New York, 1985.
3. D. Borwein, J.M. Borwein and R. Girgensohn, *Explicit evaluation of Euler sums*, Proc. Edinburgh Math. Soc. **38** (1995), 277–294.
4. J.M. Borwein, D.M. Bradley, D.J. Broadhurst and P. Lisoněk, *Special values of multiple polylogarithms*, Trans. Amer. Math. Soc. **353** (2001), 907–941.
5. K.-W. Chen and M. Eie, *Explicit evaluations of extended Euler sums*, J. Number Theory **117** (2006), 31–52.
6. R.E. Crandall and J.P. Buhler, *On the evaluation of Euler sums*, Experiment. Math. **3** (1994), 275–285.

7. M. Eie and W.-C. Liaw, *Euler sums with Dirichlet characters*, Acta Arith., to appear.
8. M. Eie, W.-C. Liaw and Y.L. Ong, *Euler sums on arithmetic progressions*, New Zealand J. Math., to appear.
9. M. Eie, W.-C. Liaw and F.-Y. Yang, *On evaluations of generalized Euler sums of even weight*, Int. J. Number Theory **1** (2005), 225–242.
10. M. Eie, Y.L. Ong and F.-Y. Yang, *Evaluating double Euler sums over rationally deformed simplices*, Int. J. Number Theory **1** (2005), 439–458.
11. P. Flajolet and B. Salvy, *Euler sums and contour integral representations*, Experiment. Math. **7** (1998), 15–35.
12. M.E. Hoffman, *Multiple harmonic series*, Pacific J. Math. **152** (1992), 275–290.
13. M.E. Hoffman and C. Moen, *Sums of triple harmonic series*, J. Number Theory **60** (1996), 329–331.
14. C. Markett, *Triple sums and the Riemann zeta function*, J. Number Theory **48** (1994), 113–132.
15. C.L. Siegel, *Advanced analytic number theory*, Tata Institute of Fundamental Research, Bombay, 1980.
16. R. Sitaramachandrarao, *A formula of S. Ramanujan*, J. Number Theory **25** (1987), 1–19.
17. E.T. Whittaker and G.N. Watson, *A course of modern analysis*, 4th ed., Cambridge University Press, Cambridge, 1927. Reprinted 1996.
18. F.-Y. Yang, *Bernoulli identities and application to Euler sums*, Ph.D. thesis, National Chung Cheng University, Minhsiung, Chiayi, Taiwan, 2004.

DEPARTMENT OF MATHEMATICS, NATIONAL CHUNG CHENG UNIVERSITY, MINH-SIUNG, CHIAYI 62145, TAIWAN
Email address: minking@math.ccu.edu.tw

DEPARTMENT OF MATHEMATICS, NATIONAL CHUNG CHENG UNIVERSITY, MINH-SIUNG, CHIAYI 62145, TAIWAN
Email address: wcliaw@math.ccu.edu.tw